S3 				       Test 1					 Revision
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Factorise

1) X+3x+2 2) a*-3a+2 3) X*+6x+8
4) p’-6p+8 5) x*+9x+18 6) q°—9q+18

7) K*-8k+12 8) x*+7x+10 9) X*+7x+12
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28) 2x*+11x+12 29) 3x*+8x+4 30) 2xX*+7x+5

31) 3x*-5x-2 32) 2x*-x-15 33) 2 +x-21
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Find the area of the following sectors

114 cm

4)

9m
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The village of Strathmahey currently has a population of 8400. Its
population is expected to increase by 4% each year over the next three
years. What will its population be in three years time?

Jackie buys a new car for £11,695. It will depreciate at a rate of 6% each
year for the first four years. What will the cars value be after 4 years?

There are 6248 cells present at the start of a research experiment at 11am.
The amount of cells present increases at a rate of 12% per hour. How
many cells will be present at 2pm?




image11.tmp
Find the length of the arc of the following shapes

1) Bom 2) 3) @
im
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2) For each of the following deposits into a bank account find, using
compound interest, the total amount in the bank account after the given
time:

Deposit Interest rate per annum Duration
a) £360 7% 3years
b) £90 8% 4 years
c) £75 6:3% 2 years
d) | £3,248 5% 5 years
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1)

2)

3)

4)

A special bottle of cola contains 10% more than the normal bottle.
The special bottle contains 660ml.
How much does the normal bottle contain?

Ross saves 25% of his monthly salary.
Each month he saves £100.
What is his monthly salary?

Mia gets a 5% wage rise.
Her new wage is £1186.50 a month.
What was her wage before her pay rise?

A house is valued at £350000.
This is a 12% increase on the value of the house a year ago.
What was the house valued at a year ago?
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“The angle of elevation from the ground fo the fop of a black of Flats is 48°.

The angle is measured at a point 75m from the flats os shown in the diagram. @
Calculate the height h of the block of flats. l
@ |
T
A shelf is supported by a bracket. @)

Caleulate the angle (x) that the bracket makes
with the shelf.
|
65cm
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The angle of elevation from the ground fo the top of a block of flats is 52°.

The angle is measured af a point 85m from the flats os shown in the diagram. @
Calculate the height h of the block of flats. I
|
—n—
A shelf is suppored by a bracket. @)
Calculate the angle (x) that the bracket makes
with the shelf.

zscml
60cm
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1) (x+3)(x+2) 2) (x=2)(x+3) 3) (x—-4)(x=5)
4) (x+4)(x-3) 5) (x+4)(x+5) 6) (a-2)(a-5)

7) (t+5)(t-12) 8) (x+5)(x—=5) 9) (2x+3)(x-4)
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Expand
1) (x+1)* 2) (x+4) 3) (x+7)°

4) (x-4) 5) (x-1) 6) (x-3)
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1) (x+3)(x*+2x+1) 2) (x+5)(x*—2x—4)
3) (x—3)(x*+5x—4) 4) (x-5)(x*-4x-7)

5) (2x+3)(x*—4x—5) 6) (3x—4)(2x*—5x+3)
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Factorise completely

1) x*+5x 2) x*-6x 3) 7x-x*
4) y*+8y 5) 2y*+3y 6) 6y>—4y
7) 3x*-21x 8) 16a—2a’ 9) 6c-21c

10) 15x-9x 11) 56y -21y* 12) ax+bx+2cx
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Factorise fully

1) ¥-1
4) a*-64
7) 4d*-9

10) 25g°-121

2) -4
5) b?-100
8) 16e’-49

11) 36-49h*

3)
6)
9)

12)

2-16
c?-169
64f"— 81

49K°-25
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34) 27p®-3q° 35) 9a-36y° 36) 3b’-27

37) 4c*-100 38) 5d°-5 39) 8x*-32y*




